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Eivor f'(x) =6x +6x —12 omote
==
f’(x)=0:>6x2+6x—12:0:>x2+x—2=0:>\ 1
-x2 =

Eivau f'(x) =2x+6 omote
f'(X)=0=2x+6=0=2x=-6=[x=-3|

Eivon f'(x)=3x*-12x -1 onote

f'(x)=-1=3x*-12x-1=-1=3x"-12x =0=

=3x(x-4)=0=|x=0| 7| [x=4]

Eivon f'(x)=e2 —2xe™ ondte
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f'(x)=0=e®-2xe™ =0=e™(1-2x)=0 = 1-2x=0= x=%

Etvan f’(x)=2xlnx+xzi=2xlnx+x yio K4Be x>0 omdte

x>0
f’(x)=0:>2x|nx+x:0:>x(2|nx+1):0:>2Inx+1:>Inx:—%: X=e?

Etvon f'(x)=3x"+2x—2 ondte

f'(X)=—4=3x*+2x—-2=-4=3x"+2x+2=0, A=-20<0

dpo n mopandve eéicmon givar advvatn



